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(1) x° + 14x% + 53x + 40

(2) x3 — 4x2 — 29x — 24

(3) x> — 49x — 120

(4) x> + 4x> — 59x — 126

(5) x> +5x%> = 2x =24

(6) x> — 11x% + 23x + 35

(7) x° — 4x% — 25x + 28

(8) x> + 6x% — 25x + 18

(9) x> — 37x + 84

(10) x° — 16x> + 73x — 90

RORELRE BFix5DE  https://noharanoue.com

Ko [4]



. RS (4]
(2]

(D) (x 4+ D(x +5)(x + 8)
2) (x + D(x + 3)(x — 8)
(3) (x +3)(x + 5)(x — 8)
4) (x+2)(x —D(x +9)
(5) (x =2)(x +3)(x +4)
(6) (x + Dx = 3)(x =7)
(7) (x = Dlx + Hx =7)
(8) (x = Dlx = 2)(x +9)
(59) (x = 3)x = H(x +7)
(60) (x — 2)(x = 5)(x — 9)
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